IR DO A6 ADRE nanssozsanses

=
$BAU— | STFB | X5=— ’g@zj@ LieN IBf
0-2 0-2 N
1| STFB 0-2 0-2 A 137
2-1 0-2
50 50 N
2| x5=— | 2-0 2-1 1 i
-2 2-0
- 5-0 0-2
s | AP | 20 20 | 2fi
2-0 2-1
0-2 50 N
4| LieN 1-2 0-2 3 i
0-2 1-2

FEBU-T | RH/NE STFC |EF3ZREA| ®HDNA I&fiz

2-0 1-2 N
5| ZHJVR 2-0 0-2 2 i
2-0 2-0
0-2 0-2 N
6| STFC 0-2 0-2 4 (i1
0-2 0-2
2-1 2-1 N
7| RSZBA| 20 1-2 1 i1
0-2 2-1
2-0 1-2
8| »HHN 2-0 2-1 3 i
2-0 1-2
FEC =T OFEnH | KEH>D~A| YUUKIES [=fiw
2-0 0-2
o | DEHD 2-0 0-2 2 i
2-0 2-1
\ 0-2 0-2
o[ AEDSD 05 0-2 3 {1
0-2 0-2
2-0 2-0 N
11| YUUKIES 2-0 2-0 1 {u
1-2 2-0

* AAND—=TEIL XA UBRVVEFDNNFTIDT, REEZDENXIDISTRLU TS0,
* BHNEROBE. BEIROBR =2BADBE = BSRM+ Y L TIRUZRET D




R =T AV K

A — 2-0
1| XI=— 2-0
1-2
B — =
1 FSZEBA
0-2
2-1
Al PAAD 2-1 2-1
2 2-0
SED TS
B . 2-0 o 2-1
o AYNE 2-0 RSZ2EA 51
2-0 2-0
¢l YUUKIES PA2ANEED
231 =2 LieN HH1 OFh0 B
R 1-2 2-1 N
A LieN 1-2 2-0 2 i
1-2 2-1
. 2-1 2-0 N
2-1 2-0
. 1-2 0-2 N
1-2 0-2
3fi4hi) =2 STF B STFC RNED>D~A | IER
. 2-0 2-0 N
.| STFB 0-2 2-0 2 i
0-2 2-0
. 0-2 2-0 N
.| STFC 2-0 2-1 1 fiz
2-0 2-0
0-2 0-2
S| AEDSD 0-2 1-2 3 i1
0-2 0-2




